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e
Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9 Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9
in chromaticity diagram (a'(F,M), b'(F,M) ) | | in chroma diagram (a*(F,M), b*(F,M)) |
) MR 2,70.2191, by=-0.0837] b ,,=0.2191, by=-0.0837]
b'(F,M),=b'(F)-b'(M) b*(F,M) = b*(F)-b(¥)
%=0.0, m=0,333, n—O 34! %:=0.0, m=0,333, n= ,34
0,02, 0,02 a*aznlx'%)/y 10,10 a—am[(x—xc)/y]
1002 . b =bp[2/9" 110 . b=yl z/y"
a*=500[a - a'y] Y"
b*=500[b - by,] Y"
f » a(F M) =al(F) -a(M) L HEM) =aF) - ax(M)
“h.02 \& 0,02 Va(FEM) b(FM) L 1& o Var(FM) bi(F.M)
0.

Xy =0313 T-0.02
Yy =0324

Yy = 25,30

zom~onawnE
Soooooooo0
c555500000
Soooooooo0
5555500000

X =0313
Y =0:324
Y = 2530

zoouonswNR
coocooooooo
Socoooooooo
coocoooooo

Sooooooooo

iz

R

eed70-3n




